msEkm FSZ - GSZE NDIR—To aRatK> >

Iﬁi &
RO ETES

- BIERONTIE - ATiE - BKEFEYT 5

B =

MEH#H - F—EHBBA, KILb-F vy NEETIT >
LXEFERLTHY %Y,

QRCTRH - HEEIRX DRz 2L,

QFEAT7ILIEEEICELY . SREMHIELET,

WEHEAWKTT » S BKOBREIEETT,

WEEAH
iz =y FSZ GSZ
B &R H | %K - EK(pH5.8~8.6) >
A& R |0~40T (BEEL E Z ) ,f-
3 [BK] 8% A 4 B : 200mg/LLLT =
! B4 - B : 50mg/LLLTF
| B4 : 0.3mLL T
! (%51 1000ppmLTF
M E A~T | FC
‘X #i|SUS316 GSZ-MF
3#—>>7 FC
-5 @ 8 2HIEERT W% 25z
& IR |HME100V =1H200V # st 44252 (20C)
1 (50Hz:0.4.0.75KW) Py . A
| =#g200V FSZ Dim 50~ 65 : 55m
| BHEEzE | 50Hz:1,500mn" | 50Hz:3,0000n" D sokit r=6 m
3 60Hz: 1,800mn~" | 60Hz: 3,600Mmin™" Gs7 A% 40 =5 m
X OB B | EBA A% 502 E I—6 m
W w1~ s0-2
| B E= M7 ARV % BEEAE R
W F EHEME — s pa prep——
75 L YWk ERTSLUNIEISIOKS TH B AR TAs }i\ ’
BEE (T LIN) | TRFVHIERH— L h(5RIN2) = -
~N - Z | FCH
hoy T UL G| hN—ft
2N L - F| e
vl ~
i’é&*ﬂ iz I A A AR T = [OASTE 2 I X))
GSZ-405-M0.4S
voes @90 [ e YR
DR TH @F—2HB W) t - 2 E T | 15WULEHAREAT. T-24L
@O (mn) G T E E E | 1.5KLLE400VR $440V
QR K% (5:50Hz 6:60Hz)  (EFEEEXIIT : =4A) = - ' -
M B T T | A14.~F:CAC(BC)&!Ix
T > v o ft

KT E S DEMADERIGE TS,

410



i o S

( FSZ - GSZf¢ HNIHK-F )

W& A
[ FSZ#; RIEAEIERERE 1,800mn~"
[ GSz#; R#AEER®RE 3,600mn~"
80
60
50 @_ N ~
N ~N
0 TEEFFRHAL ~CO T
Tk K N bj\\ ™
PRI SRAN DTN
% GSZ-CHmRTELS 28, - YI.J \\ @ \\
= GSPIMERE ALY, T S
5 : vEadiEs
B2 20 = = s
~ s =mmilry TN
m 15 L] \\\\ ©)
iy ® ® @ GJIIAN
~1c @) \
RN
10 @ N ":
8
6
8.08 0.1 0.15 0.2 0.3 04 05 06 08 1.0 1.5 2.0 3.0 4.0
it 2 (m/min)
Bt % X
ng # y . P N S S —
_ i = HEE €5 HEHE 251 HHE 2511
mm_| = KW | m’mint m | m’/min’ m | m¥min! m
40| 1 | FSZ-406-M0.75 0.75/ 0.11 1 122]0.16 1 10.8 | 022 ' 85
50| 2 | FSZ-506-M1.5 15 | 018 | 155 0.25 | 14.2 | 0.36 | 11.8
3 | FSZ-656-M2.2 22 ] 028117204 1152|056 12.2
65| 4 | GSZ-656-M2.2 22 [ 0281 19.2] 04 ' 17.80.56 ' 13.8
5 | GSZ-656-M7.5 75 | 0281 60 |04 ! 545 |0.56 ' 45
6 | FSZ-806-M3.7 37 | 045, 192] 063 175] 09 | 13
80| 7 | GSZ-806-M7.5 75 | 0451 445|063 139209 | 285
8 | GSZ-806-M11 11 0.45 515 0.63 1 47.8 | 0.9 | 37.8
9 | FSZ-1006-M5.5 55 (071 1215]1.0 119514 | 155
100 [10| GSZ-1006-M7.5 75 07113 |10 27 |14 '21
11| GSZ-1006-M11 11 0.71 1 41 1.0 1362 |14 | 295
125/12| FSZ-1256-M7.5 75 [ 112119216 117 [ 2241122
150 (13| FSZ-1506-M11 11 18 1 202]25 175 ]356 ' 105

411



( nom-7 FSZ - GSZF )

B SEER B
® FSZH
14
22
O — N @
@3
T /6
< | [ /18(12(9)28)36/29)(24)37)
M7
QT e
A=) I@E_“"'_‘ - =
@) . iﬁ‘j}i c
s NSl
oAU}
e\
d6) 32034(7)(13@7)(5)8)(®)
® GSZ#’
14 1)(19)(10)(19 2)(4
22 | 27
11
23 18
18 | 12) 33) (30) (26) (29
\
\
6
32 e B
35 \ N
19
36 [ \?
17
38 (34) 9)(9)(8)(9)B7)(25
No % b 7 #4 No % b # #
1 | HE = i — 20| U > J Ny & > | IL(NR)
2 |7 - ¥ > YJIFC 21 | ¥ Y * > | I4(NR)
3 |5 - ¥ ¥ YJIFC 22 | 77 >INy X 2| dL(NR)
4 |5 — > T HIN—|FC 23 | IR fT A /N v ¥ > | T4 (NRXIENBRY IZEPDM)
5 |# = 8 H /N —|FC o4 | 84 # F AKX K| FC
6 | 1 > ~ > | FC o5 | 7 1 Nt ##tF | FC
7 14 > ~ Z | FC 26 | £ & = _—
8 | £ & | SUS316 27 | ## = # | FC
9 |k 7] ) ¥ | 3L (NBR) o8 |# = A N — | #EEEVHI—KITR)
10 |4 4 F X = > #EXIEFC 20 |®8 = H N —|FC
112 4 F+ 1) > 4 |SUS304X13SCS13 30 | M # LU K J b+ |C3604
12 |/¥ v % > # Z | SUS304CP 31 | T K I k| C2700
13 | 7 > 1 | FC 32 | & va Y k| SUS316
14 | 7 > > v | FC 33 | + Y ~ | C3604
15 | REMATS > Y| FC 34 | F 3 £ | SUS316
16 | 7 > JIWEECRUh—FKxA4 )| 35 | I h & £ | SUS316
17 | 7 5 4 | SCS13 36 | F EE £ | SUS316
18| 5 > KIixy %> S 37 | ¥ — | SUS316
19 | O ] > Y | G4 (NBR) 38 | & i3 f% | Al

412



i o S

( FSZ - GSZf¢ HNIHK-F )

B~ % EREEICE L E L CRMAEECHER £ SV,

® FSZT
75 IHE ‘
BAfl1 (O4240~65mI%A 7 5 > &) B2 (CREdomit 7 5> )
“D n-¢h
|
G
€ de‘,i
4C
|
B3 (JISTOK 5 ) o0& _
o d cC | D t f n |hGERRILR) | B
4O%LPT1% 95 | 95 |15 | 25| 4 [15(M12) | 1
M PT1%4 95 | 95 | 145] 2 4 [15(M12) | 2
SOHMPTQ 105 | 105 | 15 | 25| 4 |15 (M12) | 1
MHHPT2 | 120 | 155 | 18 | 2 4 |15(M12) | 3
65%&PT2% 130 [130 |14 | 0 4 |15 (M12) | 1
HHIPT215| 140 | 175 [ 18 | 2 4 |15(M12) | 3
80 |PT3 | 150 | 185 | 18 | 2 8 [15(M12) | 3
100 |PT4 | 175|210 |20 | 2 8 [15(M12) | 3
125 |PT5 | 210 | 250 |22 | 2 8 [20(M16) | 3
150 |PT6 | 240 | 280 | 22 | 2 8 |20 (Mi6) | 3
® [17240mm i
A L—
J
pd Y
TL
0 39 274 3 ML
g T T A
& X
- 1 8 @77 ¢d
’ =
r—‘ﬁ ;
—— 4-M12X160
St LL’J Ba AD BM
BW 470
FA
O ” & £—% N=X HEuTA £
i ” KW BA BM | BP BW | TL AD FA ML kg
40 |FSZ-406-M0.75 0.75 125 | 220 | 335 | 375 | 511 71 186 | 273 50

413



( nom-7 FSZ - GSZF )

©® %50~ 150mm

OE#80L L@ DR IC ESBED & F T,

[mEE W =* t—% K7 N — X #H & & o & g
KN |[DC|PL|ST|DT|BI |BL|BA|BM|/BPBW/DH|SH|TL|AD|FA| E | J |[ML| kg

50 | FSZ-506-M1.5 1.5 |50 346 37| 27 | 20 | 581) 128|320 310|350 390|250 676| 66 |123|160| 3 |327| 67

65 | FSZ-656-M2.2 2.2 | 50369| 43|31 | 20| 619/ 107|400 310|350 | 390 250| 738| 41 |111 /148 | 3 |366| 80

80 | FSZ-806-M3.7 3.7 | 40428126 | 33 | 20 | 719] 163|400 | 340380 | 455|270 | 815/ 65 [145|181| 4 | 383|109

100 | FSZ-1006-M5.5 5.5 | 45497134 | 39 | 25 | 805| 148|500 | 380|424 | 523 | 318| 950 52 | 152|193 | 4 | 449|161
125 | FSZ-1256-M7.5 7.5 | 45]512(148 | 43 | 25| 856| 178|500 | 420|464 | 578 | 348/1003| 80 | 185|226 | 4 | 487|200
150 | FSZ-1506-M11 11 | 50 |608|148 | 43 | 25 [1031| 203|630 | 420|464 | 623 | 4031215 82 |220 |261 | 4 | 603|260

© HEIFHERERIL hHik

O& EBEARIL b
d H
50
65 M12X160
80
100
125 M16X200
150

414



FSZ - GSZF nOH—7
C )

® GSZH
75 Itk
(JIS10K 5> ¢F) O

d|C | D t f n |hGERKRILN

65 |PT214 140 [ 175] 18 | 2 | 4 | 15 (M12)
80 |PT3 [150 [ 185| 18 | 2 | 8 | 15(M12)
100 |PT4 |175]210| 20 | 2 | 8 | 15 (M12)

PH

[mEES # =+ % KT N - 2 #H e ¥ & g
d kW |DC|PL|ST|DT|BL|BA|BM|BP|BW|PH|DH|SH|TL |AD|FA| E |CW|ML| kg
65 GSZ-656-M2.2 2.2 | 52|436|104 | 31 |693| 167|400|250| 284 441|392| 242| 747| 87 | 157 [177 | 157 | 312| 77

GSZ-656-M7.5 7.5 | 55 450|104 | 31 |788| 142|500 340 | 384| 504|455 | 280| 900| 62 |132 |152 | — | 447|136
80 GSZ-806-M7.5 7.5 | 50 |515|126| 33 |862| 177|500|340 | 384| 519|475 | 285| 965| 72 | 147 |167 | — | 447|144
GSZ-806-M11 11 | 50 |515(126 | 33 |984|177|630|380| 424|519|475| 285(1093 82 | 157 [177 | 264 | 575/ 205
100 GSZ-1006-M7.5 7.5 | 60 |535|134 | 39 |862| 177|500|340 | 384| 512|475 | 295| 985| 87 |177|197 | — | 447|164
GSZ-1006-M11 11 | 60 |535(134 | 39 |984|177|630|380 | 424|512|475| 295(1136| 87 | 177 (197 | 264 | 575|210

(73) 2CW=BWODRIICW% &BET 3,

i o S

© HEAZEIEKIL hTik
[mEE EBERIL b

d 0 & %

65 M12X160 2.2KW
M16XX200 7.5kW

80

100 M16X200

415





